EARAROBEEIERT — 2 N— IBISH —F

2013108148 (A) 4E=#5H

v >%3%t 500%T &R

‘ [R1%] & ‘ [REBE] — | & (A) 18000 B

[A~&£] 17 :7,200,000  ~ 23 :2,900,000 § 337 :1,800,000 43 :1,100,000 3 5 j& :720,000 M

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
S X LS t 3 | AVEX 1:52.1 1-1-1-1 |37.7| 93.9 | 2 530 | EEFEE (RR)
1 4 BH/ XTI — * 55.0 ) o) | VKRR
LTINTFINZL2 B:aH/ L1y —FK HRSUHB A/ 77— L4
= VTN 4 | FIHEEBEZ 1:52.3 2-2-2-2 | 37.7| 921 | 1 514 | RBF (ER)
2011117771 441 [B] # 57.0% (1 1/4) 0 ,L(E) #HEL-ZXF-—Z
RA—V X124 B:5T74>L—FK (/) HEa-KL—Ya>AET7
PN it 3 | =EE 1:53.4 6-7-7-6 |38.2| 82.3 | 5 530 |MBHEELE (RR)
3l7l7| bvdrETY g 55.0 @ (+10) | EIHEA
LR T— VR 7—h B:AY57FR2 Ay tie]
=8 _ = . 4 3 | REREX 1:53.8 3-3-3-3 [39.0| 79.5 | 3 478 | SEBR (RR)
4 6 TH=ZA4F > 55.0 2 1/2) +6) E’H‘T’%Z
R:THAFLAL BILHAR% I AR
S » 5 £ 4 | HABATF 1:53.9 3-3-3-4 [39.1|78.7| 8 456 | BB—% (ER)
5 2 XM aoE)—"7J - 57.0 (3/4) (+4) AT
R:xF21=g7—X BLF1TILTAR T BAtE
— s 4 | ESEME 1:54.0 3-5-3-4 [39.1|77.8 | 6 460 | EKHE (ER)
63| A—T1UT 55.0 (7€) 42) | (B HAL-ZAH—2
Ry KYIYZXIZX FB:a—Ri—»4 BAT 7 — L
. e i o3 | HKE 1:54.1 6-7-7-6 | 38.9| 76.8 | 4 498 | ExH= (BR)
71818 dJ—a NI A52 0 (1/2) +2) HBEFIZ
R:y—)rH— BiLA4F>T4=— ppal=la% e
_ < 9 FR A AR : -7-9- BFA (FEX)
8l5l5|FITLYY—KR 3 e 1.(575).3 9-7-9-9 |39.8| 67.7 | 9 &4} ﬁ%E&
LTATILFNRTF— BiFAILE>*— T TLHSRERS
. S . 56— BT
9lglg|®HVay [B] #o4 | MRl 15554 6-5-6-6 | 40.3| 67.6 | 7 (4_920) él;%%%i)
L7V FFELT BIIXRLYU—% RS
@ 71 L
) 50.1-37.7
NO> 24 L | 12.5-12.0-12.6-12.3-12.6-12.4-12.3-12.4-13.0
® I —F—@EBIERL
1 S=7r= 4,1(2,3,6) (7,8,9)5
2ol=7r= 4,1(2,6) (3,9) (5,7,8)
S=57= 4,1(2,3,6)9(7,8)-5
43— — 4,1,6(2,3) (7,8,9)-5
[ RN
B OB 4 270M 714K 1-4 160M e & 1-4 280M &R 1-4-7 570M
8 B 4 120/ 4-7 400 B = 1-4 270M 3B 4-1-7 2,690/
1 110 1-7 270M B H 4-1 590
7 190M9

ABICOVWTRDTEEERROODE. TR LIV,




